13.45. y'—7y'+12y=x.
1347. y''—4y'+4y=4x.
13.49. y'—2y' +3y=x+1.
13.51. y''—3y' +2y=x*.
13.53. y'"—y=2sinx.

13.55. y"'+9y=sin3x.

13.57. y''+4y=2cosx+sinx.
13.59. y''—2y'+2y=2cosx+sinx.
1361. y'' +y=e".

13.63. y'' —4y=10e"*.

13.65. y''—4y' +4y=e"*.
13.67. y'+9y=xcosXx.
13.69. y''—8y' +16y=xe**.

13.46. y'' +y —2y=4x.

13.48. y"'+6y'+10y=1—x.
13.50. y'' —4y' +4y=x*.

13.52. y'—3y' —4y=4x*.

13.54. y""+y=acosx, a#0.
13.56. y''+ y=2sinx—cosx.
13.58. y"+9y=2cos3x+5sin3x.
13.60. 2y —y'— y=3cos2x—sin 2x.
13.62. y"' +2y'+y=8e".

13.64. y''—a’*y=e"*, a#0, bs#0.
13.66. y''—5y' +6y=¢e™.

13.68. y"’'+4y=xsin2x

13.70. y''—3y'+2y=xe>*.
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